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<p>@</p> <table border="0"> <tr> <td><img src="images/stories/olympian_tin_big.png"
border="0" /></td> <td> <p style="text-align: center;"><span style="color: #000; font-family:
Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size: 16px;"><strong>3
litres tin can</strong></span></p> <table border="0"> <tr> <td colspan="3"> <p><span
style="color: #FFF; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal;
font-size: 14px;"><strong>Average Nutritional Value per 100mi</strong></span></p> </td>
</tr> <tr> <td style="text-align: right;"><span style="color: #666600; font-family: Tahoma,
Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Energy</strong></span></td> <td><span style="color: #666633; font-family:
Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size: 14px;">3389 KJ/ 824
kcal</span></td> </tr> <tr> <td style="text-align: right;"><span style="color: #666600;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Acidity</strong></span></td> <td><span style="color: #666633; font-family:
Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size: 14px;">=< 0,6
Y%</span></td> </tr> <tr> <td style="text-align: right;"><span style="color: #666600;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Fat</strong></span></td> <td><span style="color: #666633; font-family:
Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size: 14px;">91,6
g</span></td> </tir> <tr> <td style="text-align: right;"><span style="color: #666600;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Monounsaturated</strong></span></td> <td><span style="color: #666633;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;">70,50g</span></td> </tr> <tr> <td style="text-align: right;"><span style="color:
#666600; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Saturated</strong></span></td> <td><span style="color: #666633; font-family:
Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size: 14px;">12,8
g</span></td> </tir> <tr> <td style="text-align: right;"><span style="color: #666600;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>Peroxide Value</strong></span></td> <td><span style="color: #666633;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;">=< 20mEq 02/kg</span></td> </tr> <tr> <td style="text-align: right;"><span
style="color: #666600; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height:
normal; font-size: 14px;"><strong>Waxes</strong></span></td> <td><span style="color:
#666633; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><250 mg/kg</span></td> </tr> <tr> <td style="text-align: right;"><span style="color:
#666600; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>UV Absorption</strong></span></td> <td><span style="color: #666633;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;">K232 <= 2,50</span></td> </tr> <tr> <td style="text-align: right;"><span style="color:
#666600; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>UV Absorption</strong></span></td> <td><span style="color: #666633;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;">K270 <=0,22</span></td> </tr> <tr> <td style="text-align: right;"><span style="color:
#666600; font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
14px;"><strong>UV Absorption</strong></span></td> <td> <p><span style="color: #666633;
font-family: Tahoma, Geneva, Arial, Helvetica, san-serif; line-height: normal; font-size:
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14px;">?? <= 0,01</span></p> </td> </tr>

</table> </td> </tr>

</table> <p>@</p>
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